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QUESTION 1

Which PacketShaper report displays the percentage of bytes that are NOT retransmits?
A. The TCP Health graph

B. The Network Efficiency graph

C. The Normalized Network Delay graph

D. The Top 10 Classes graph

Correct Answer: B

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.10/Content/PDFs/
AdaptiveResponse.pdf

QUESTION 2

Refer to the traffic tree in the exhibit.

Which policy is applied to Inbound/Country/City/Citrix?
A. Priority 6

B. Priority 3
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C. Rate(6) 20k
D. Rate(3) 0

Correct Answer: C

QUESTION 3

How are classes sorted in a traffic tree?

A. By service precedence

B. By priority, rate and average utilization
C. By parent, child, and sibling relationships
D. By server port number

Correct Answer: C

Explanation: https://originsymwisedownload.symantec.com/resources/webguides/packetguide/11.5/Content/Topics/
overviews/tree-overview-legacy.htm

QUESTION 4

Which feature can be used to modify the amount of bandwidth available to an application based on the time of day?
A. Adaptive Response

B. BCAAA Server

C. Command Scheduling

D. Event Notification

Correct Answer: D

QUESTION 5

Which control limits the number of simultaneous TCP flows in a class?
A. class licenses

B. policy delay bound

C. system limits
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D. policy flowlimit

Correct Answer: B
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